Professions and taxes (Handout 6)
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The graph above shows the marginal tax rate in a progressive tax system. Use this graph to answer questions 1 and 2.
1) The average yearly salary of a sportscaster at a large TV network is $91,000. How much income tax would a sportscaster pay each year?

2) The average salary of lawyers in the United States is $83,000 per year. How much income tax does a lawyer who makes this much have to pay?
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Use the graph above to answer questions 3 and 4.

3) The average salary of a doctor in the United States is $145,000. How much income tax will a doctor who earns this much have to pay?

4) The average American earns $26,000 per year. How much income tax does the average American pay?

